13.04.2020    Тема урока:    Нахождение значения числового выражения.
    Это уже повторение.     Покажите подробное решение.

[bookmark: _GoBack]1 группа ( на «3»):   1) [image: https://oge.sdamgia.ru/formula/5f/5fb178429ff080d4fa391540fa9d1ecdp.png]      2) [image: https://oge.sdamgia.ru/formula/ff/ff67726d4415fb9e33dbbd16efe7288fp.png]        3)  [image: https://oge.sdamgia.ru/formula/26/2648a3d7f6e0193b713121f0a6387e03p.png]

2 группа ( 1 вариант)    а) 4 (1,22 : 0,4 – 3,7) + ;    б) 1 + (0,4 · 3,25 – 3,15) : 0,2;
          в) [image: ].
2 группа ( 2 вариант)   а)  + 1,2 (2,3 – 0,061 : 0,2);    б) 5,07 : (0,6 · 3,25 – 2,25) – 3;
         в) [image: ].
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